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Bs 8 1T B 264 275 297 572| T » WEHET5 T H 540 575 555 1, 13008 BT 7 T H 1,286 1,601 1,429 3,030 |#il ARET3 T H 211 255 233 488
w2 T H 375 379 386 765| T 4 WEET6 T H 395 396 423 819|%r BT 8 T H 542 650 637| 1,287|/h 4,647 5,146| 5,143 10,289
B W3 T H 288 334 326 660 &t 9,553 10,210( 10,132 20,342|%r BT 9 T H 1,315 1,383 1,166 2,549 (%1 T H 98 104 102 206
Ta4ET LT B 153 148 152 300 |k 1= 605 658 669 1,327(KJSET1 T H 116 100 103 203| fRE2T H 331 378 387 765
a5y ET2 T A 96 80 77 157|% EET 1T H 328 407 385 T92|K IR 2 T H 488 529 509| 1,038| “{RE3T H 272 299 315 614
a4 EF3 T A 125 151 169 320(% W72 T H 607 657 661 1,318 G 9,433| 10,765| 9,824 20,589 " {RRB4T H 125 117 124 241
£ L HT 275 251 267 518(#F W73 T H 1, 544 1,474 1,435| 2,909 0BT 1T H 810 867 849| 1,716| " {REST H 91 107 103 210
FN HT 438 431 439 870|HF W74 T H 760 774 732| 1,506 |30 BT 2 T H 311 380 346 7263 H 1T H 70 64 72 136
fif my 213 211 217 428|k P 1 T H 795 909 839 1, 748({r 30 BT 3T H 244 264 266 530|3R 2 T A 118 129 127 256
1k HT 137 114 127 241k M 2 T H 336 393 421 B4 [ L M 4 T H 773 726 708|  1,434|3R H3 T H 121 124 109 233
# K T 177 210 209 419k P 3 T H 748 868 906 1,774 ({30 BT 5T H 736 726 726 1,452 |4 & A W7 176 158 188 346
5 W] 430 435 459 894 |z e 468 443 514 957 [T L T 6 T H 1,228 1,276 1,286 2,562(f & 1 T H 54 45 44 89
K o WE HT 484 510 509  1,019|4& 2 447 523 535| 1,058\l BT 7 T H 1,125 1,051 1,134 2,185|# &£ 2 T H 66 63 67 130
W b oE 299 292 301 593|K B F 1T H 283 322 320 642 (3T BT 8 T H 822 876 729 1,605|81 & (L 41 61 68 129
K H o HT 516 535 533| 1,068|K ¥ F2 T H 265 347 337 684 [T L BT 9 T H 948 827 933 1,760/ aH 1,563 1,649 1,706 3,355
HiafE1T B 197 192 213 4054 SF 1 T H 573 793 743 1,536 {32 ET10T H 912 756 776 1,632|= M 1T H 320 249 255 504
HiafE2T B 255 269 273 542|454 sF 2 T H 146 199 193 392 El 7,909 7, 749 7,753| 15,502 |= [ 2 T H 85 93 86 179
HiafE3T B 302 359 351 710(4 SF 3 T H 380 504 449 953|f% 1% 1 T H 191 198 215 413|E M 3T A 212 160 148 308
i 5,024| 5,176| 5,305 10,481|4 ¢ 4 T H 615 766 722|  1,488|# iE 2 T H 1,048 1,301 1,237 2,538/ K1TH 88 110 87 197
B KET 1T H 229 265 265 5304 sF 5 T H 511 631 662 1,293|#% 7% 3 T H 364 425 439 864 |/~ K2 T H 44 53 49 102
B KET2 T H 362 397 379 776 il 9,411 10,668| 10,523 21,1914 # 1 T H 1,373 1,448 1,502|  2,950|/h@ K3 T H 176 197 211 408
B KET3 T H 210 251 256 5073 H M1 T H 486 428 509 937(4 # 2 T H 1,048 1,078 1,142 2,220/ K4 T H 220 161 220 381
Eil1TEH 673 625 657 L2823 M2 T H 825 774 803 1,577\4 # 3 T H 880 974 907 1,881|/h&AR5T H 77 78 87 165
Ei2TH 741 841 851 1,692\ F ##3 T H 1,126 1,097 1,116 2,213|4 # 4 T B 0 0 0 O|ER 1T H 271 169 242 411
EiM3TH 408 503 492 9953 #H M4 T H 786 700 678 1,378|4 3 5 T H 176 60 148 208| R 2T H 250 281 266 547
Ei4T B 799 799 915 L7143 5 #5 T H 1,038 955 1, 006 1,961 G 5, 080 5, 484 5,590 11,074[E R 3 T H 226 180 200 380
Ei5TH 540 527 539 1,066 |3 & ##6 T H 393 426 402 828 /) &t 54,311| 57,682| 56,929| 114,611/ i 1, 969 1,731 1, 851 3, 582
EileT H 222 218 250 4681k » M1 T H 399 415 415 830\ 1 T H 348 406 364 T70(p A 1T H 214 162 229 391
EW7TH 490 498 439 9374 » 2T H 771 643 776 L4192 T H 418 455 458 913k A2 T H 222 223 163 386
E 8T H 272 300 291 591 |fifi [d BT 1 T H 333 397 384 78110M 3 T H 461 524 502 1,026 A 3 T H 101 121 110 231
EioT H 4 4 4 8| [ mT 2 T H 723 802 784 1,586 (F1 HET1 T H 206 237 236 473 A 4 T H 60 54 50 104
KHEE1LTH 306 325 322 647 |fifi [d BT 3 T H 584 596 539 1,135(Fn HET2 T H 294 304 332 636 A5 T H 78 72 69 141
K HEE2T H 331 302 302 604 |fifi [d BT 4 T H 431 397 390 787|HE 5 1 T H 162 204 189 393|pk A6 T A 37 44 39 83
K HEE3T H 340 400 360 760 it 7,901 7,630 7,802| 15,432k 45 2 T H 171 182 212 394\ A7 T A 68 73 75 148
K HEE4T H 307 371 357 7288 BT 1 T H 1, 206 1, 408 1,312 2,720|#E 4% 3 T H 191 221 207 428|pk A8 T H 91 109 83 192
K HEEST H 306 339 349 688[#r BT 2 T H 842 966 849  1,815(#F # 4 T H 227 259 242 501 [/ 2t 871 858 818 1,676
T WET1 T H 653 704 704|  1,408|%r W] 3 T H 1, 564 1,657 1,519 3,176|# 4 5 T H 533 639 656 1,295(Hi 5B AF & &F| 9,050 9,384 9,518| 18,902
T WiET2 T H 539 579 570 1,149|%r T 4 T H 730 788 786| 1,574|HF # 6 T H 552 643 578| 1,221 |& 2+ 63,361 67,066| 66,447| 133,513
T4 WEHT3 T H 406 488 420 908(#¥r M7 5 T H 1,245 1, 559 1,394 2,953[#h AHT1 T H 366 410 405 815
T4 WEHT4 T H 480 503 432 935(% BT 6 T H 99 124 120 244k KB 2T H 507 407 529 936




